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A 8 Hd Td U w=Hs

- 29 diul ;370 FEMn, Mg, ADolA F% F7) (4 ~ 51%)
As T 87 FEFAA = i (=5 ~ -49%)
dd 4 oyl - A FECA FdsAY = Aa (22 ~ -81%)
O =AY FEY FE ¥

- F(Pb)& 0.0076pg/m = 7371 F0.5ue/nd)] 1.5% 5=
HFe)e 0.2929g/m 2 127) = F N & 55 YeRd
- Fe(0.2929) > Ca(0.2202) > Al(0.1110 > Mg(0.0855) > Mn(0.0184) > Pb(0.0076)

>Cu(0.0049) > Cr(0.0015) > Ni(0.0013) >As(0.0012) > Cd(0.0003) > Be(0.0000)
(St g/ m*)

El

T & PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

5t& 26 |0.0010|0.0050|0.0002 | 0.0004 | 0.0078 | 0.2162 | 0.0005 | 0.0881 | 0.0000 [ 0.1973|0.0022 | 0.1163

XM 29 10.0011|0.0082|0.0003|0.0010|0.0154|0.2823 | 0.0014 | 0.0780 | 0.0000 | 0.2143 | 0.0052 | 0.0950

oy
{0
Ol

2t 31 ]0.0011]0.0097|0.0003 | 0.0024 | 0.0190 | 0.3829 | 0.0031 | 0.0897 | 0.0000 | 0.2737 | 0.0084 | 0.1093

33 |0.0015|0.0077|0.0003 | 0.0016 | 0.0312 | 0.2902 | 0.0008 | 0.0861 | 0.0000 [ 0.1957 | 0.0039 | 0.1233

ES
gz 30 |0.0012|0.0076|0.0003 | 0.0013 | 0.0184 | 0.2929 | 0.0015 | 0.0855 | 0.0000 | 0.2202 | 0.0049 | 0.1110

H F= 17 10.0013{0.0089 | 0.0004 | 0.0020 |0.0165 |0.3177|0.0020 | 0.0822 | 0.0000 | 0.2313 | 0.0098 | 0.0733

e sE 39 ]0.0015|0.0161|0.0006 | 0.0066 | 0.0447 | 0.7624 | 0.0075 [ 0.3111 | 0.0000 [ 0.9396 | 0.0203 | 0.2793

PSES|

IIZ_|-||HE| - -13% | -14% | -34% | -32% | 11% | -8% | -27% | 4% 0% 5% | -49% | 51%
SHE
(%) | ®4

E%HZéJl - -22% | -53% | -57% | -80% | -59% | -62% | -81% | -73% | 0% | -77% | -76% | -60%
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As Pb Cd Ni Cr Be Cu Ca Al
EE 1) sH Hna2d) HUusg (214 1€)
(FEE Ad 2 Ad 59 g v )
= b |
_ E344 2
O F58 A4
- 'F(Pb)2 0.0050ug/m = 7471 F(0.50e/nD) 2] 1.0% FE<
- AFe)2 0.2162pg/m 2 1270 &5 F /M =& 552 YErd
- A o As 5 T FE A FE 27} (1 ~ 61%)
47 FE(C, Ni, Ca, CONA F= Za (1~ -62%
- Ad B O A DE AN FEAA FE Fa (15 ~ 66%)
(S ug/m)
T e PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
= ¥ 26 |0.0010 | 0.0050 | 0.0002 | 0.0004 | 0.0078 | 0.2162 | 0.0005 | 0.0881 | 0.0000 | 0.1973 | 0.0022 | 0.1163
.- 19 |0.0009 |0.0049 | 0.0002 | 0.0011|0.0070 | 0.1656 | 0.0005 | 0.0679 | 0.0000 | 0.1993 | 0.0047 | 0.0724
Hesg 24 | 0.001 [0.0083 [0.0003 [0.0012 [ 0.0095 | 0.2558 | 0.0009 | 0.1281 | 0.0000 | 0.3275 | 0.0045 | 0.1132
751;% - M% | 1% |-27% | -62% | 11% | 31% | 3% | 30% | 0% | -1% | -53% | 61%
OIS
) | s | - 0% | -40% | -41% | -66% | -18% | -15% | -48% | -31% | 0% | -40% | -52% | 3%
CiH
O BHE A&
- F(Pb) 0.0082ug/m = 273 7] =0.5ug/n)e] 1.6% T+
- HFe)S 0.2823g/m = 127 3= = /M =& FEE e
- 2@ € U] - A FEANA FE A (41 ~ -82%)
*Ad( ‘21.12) BRI E HeY




T E PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
2 ¥ 29 |0.0011(0.0082 | 0.0003 | 0.0010 | 0.0154 | 0.2823 | 0.0014 | 0.0780 | 0.0000 | 0.2143 | 0.0052 | 0.0950
Hasg 46 |0.0018{0.0192|0.0007 | 0.0053 | 0.0544 | 0.8865 | 0.0071 | 0.3753 | 0.0000 | 1.1413 | 0.0291 | 0.3381
=g | B
O(;'O)E S| - | -41% | -57% | -63% | -82% | -72% | -68% | -80% | -79% | 0% | -81% | -82% | -72%
CHH]
O ¢&F SAHL
- F(Pb)2 0.0097ug/m 2 273 7] 0.5e/1)] 1.9% T+
- FFe)< 03820/ 2 127 82 F 714 =& 552 ehy
o . =
- 4 oinl 270 &F=(Ca, ADAA s ST} (4 ~ 47%)
As & 9N FHFANA T A (=7 ~ -44%)
- Zd ¢ gy - A FHANA FE AAa (-30 ~ -82%)
(EH?d g/ m')
T e PM-10| As Pb | Cd Ni | Mn | Fe Cr | Mg | Be | Ca | Cu Al
= € 31 |0.0011|0.0097 | 0.0003 | 0.0024 | 0.0190 | 0.3829 | 0.0031 | 0.0897 | 0.0000 | 0.2737 | 0.0084 | 0.1093
3 ¥ 14 |0.0018|0.01280.0005 | 0.0029 | 0.0259 | 0.4697 | 0.0035 | 0.0965 | 0.0000 | 0.2633 | 0.0149 | 0.0742
Hdsg 47 |0.0016{0.0207 | 0.0007 | 0.0134 | 0.0702 | 1.1448 | 0.0144 | 0.4299 | 0.0000 | 1.3502 | 0.0274 | 0.3866
S
oy || 37% | 24% | -41% | -18% | -27% | -18% | -10% | 7% | 0% | 4% | -44% | 47%
528 oy
(o) —
O | =a | - | 30% | -53% | -54% | -82% | -73% | -67% | -78% | -79% | 0% | -80% | -69% | -72%
CHH]
O otFE ZHA&
- F(Pb)2 0.0077ug/m 2 B 7] 0.5e/1)] 1.5% F+F<
- HFe)S 0.2902ug/m = 127} s+&E = /M =& FEE UEY
- Ad 59 v - A BN BE i (-23 ~ -87%)
* A4l ‘2112) AR oE HRF
(EH g/ m*)
T = PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
= ¥ 33 |0.0015 [ 0.0077 [ 0.0003 | 0.0016 | 0.0312 | 0.2902 | 0.0008 | 0.0861 | 0.0000 | 0.1957 | 0.0039 | 0.1233
Heasg 48 |0.0019|0.0145 |0.0005 | 0.004 |0.1067 | 1.0395 | 0.0022 | 0.5139 | 0.0000 | 1.4575 | 0.0168 | 0.4469
sz#g| 22
% %HEI - | -23% | -47% | -44% | -59% | -T1% | -72% | -64% | -83% | 0% | -87% | -77% | -72%
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KSAALE ZFFP
(39 : mm)
4L =
= Al ol ol ol ol ol
T = 7|4ty 1UX} | 2K} | 3YUXE | 42X} | 5UKX} ol A LT
=T o T o
Sts= NES 0 0 0 0 0 0g 0
HMS A 0 0 0 0 0 0g 0
S&4E o4 0 0 0 0 0 0g 0
OtF=& A 0 0 0 0 0 0g 0
(EAHALE HH7|2D
(481 : O
T = 19X | 29X | 3YXE | 4€Xt | 5K} | £~ | o
Stea 33 04 17 -1.8 -0.9 -1.8 33 -0.1
YM S 43 1.8 -19 -1.2 -14 -1.9 43 0.3
2UE 4.4 1.5 =22 -14 -2.0 22 44 0.1
OIF& 5.5 2.0 -1.6 -0.6 -0.9 -16 5.5 0.9
(EALE F5
+$ %)
T = 1LXE | 22X | 3YXE | 4€UXE | SUKX} £ P | E~ Y
Stea 63.2 429 395 416 39.0 39.0 63.2 452
HM S 64.7 34.8 35.0 324 325 324 64.7 399
SHE 65.0 338 35.5 316 333 316 65.0 39.8
otF& 55.4 34.4 315 27.7 284 27.7 55.4 35.5
(EAALE F5
(¢4 . m/s)
T 1L Xt 22U X} 3%} 4L Kt 5 X} ESpe | E | e
Stea 1.9 3.6 2.7 2.8 1.8 1.8 36 26
YMS 0.7 1.5 15 13 1.0 0.7 1.5 1.2
4= 0.6 1.7 13 16 0.9 0.6 17 1.2
OtF= 0.7 1.8 16 17 1.1 0.7 1.8 14
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